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2AM: aot
TEH AF
L= B

HE - B (3H) - KISAY - BYS il HImEET
OHB2 = AHI (6HE =)
30,7003 *28H 2 +23 1,720
OHB2 = AHI(HES)
217,000 »28H 2 6,076
OltsS&+=S A AHI (5604 & =)
319,200 *2530H A& 80,758
OltsS&+=S A AHI (1304 & =)
56,5203 #2530 2 33| 42,899
O%Ad=xHaZZ AU (7THES)
30,200& x2JH A %53 302
206 M= Hl 5,785 5,785 0
01 M= 4l 5,785 5,785 0
ODISM4TLTANE 22M+E 7Y
170,000 20 A 3,400
OllSM4eE ASUHEDY
3,000& #3kg x265H A~ 2,385
EsPUEBEFIHL ALY 499,000 840,000 A 341,000
Xl 349,000
[ia 150,000
401 AIEHIZL 201 499,000 840,000 341,000
Xl 349,000
= 150,000
01 A& tl 496,000 835,000 A 339,000
OsSESHUEES LA 496,000
Xl 349,000
e 147,000
03 A& S THHI 3,000 5,000 A 2,000
OsSESHUE:ESFIHEAMS 3,000
ARESAIEIAY 386,000 386,000 0
Xl 270,000
[ia 116,000
401 AIEHI L 20 386,000 386,000 0
Xl 270,000
[ia 116,000
01 A& tl 383,000 383,000 0
OALTHI2=TAIEINSALS 383,000
Xl 270,000
e 113,000
03 A& S THHI 3,000 3,000 0
OAHIE=TAEINSAIS 3,000
H4-CHY2E 4,000 4,000 0
202 044l 3,000 3,000 0
01 SLHOIYI 3,000 3,000 0
&% 2t FU A 3,000




AN dot=SAFE A
My Nz
SR SOEXNSH4LE SN B3 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
203 YR =&l 1,000 1,000 0
03 Al R =X QI Q=T 1,000 1,000 0
OM+ET R DA 1,000
A2AZFCSAENESAY 260,000 424,000 A 164,000
401 A& HIZ 201 Y] 260,000 424,000 A 164,000
01 A& HI 260,000 424,000 A 164,000
OLASESAEMNE ALY 240,000
OEEZLAZFTANENESAY 30,000
OEYSLAARSSAENE ALY 50,000
OGULARFTANENESAY 50,000
OBHLAAZRSTAENE ALY 30,000
OUELAZRSTEANENES ALY 80,000
OLALEZAENSELELINAX
1,000, 000& *209H £~ 20,000
A2AREAERAE 2 A 200,000 190,000 10,000
= 60,000
s 140,000
401 AIEHI L 201 200,000 190,000 10,000
= 60,000
s 140,000
01 A& Hl 200,000 190,000 10,000
OLAZ=TAIEAE 2 ALY 200,000
< 60,000
e 140,000
s30T 2tel 19,608,638 15,314,094 4,294,544
2 11,009,000
X 400,000
< 1,401,000
e 6,798,638
St HMelAE2Y 2,109,424 1,623,504 485,920
St=HMelAlZ829g 2el 1,190,286 1,232,555 AN42,269
101 @14 Hl 38,492 35,565 2,927
04 JIZHZ22XREE S 38,492 35,565 2,927
OAN&Z2eld & AEAEXRA R 38,492
OoJlzs 48,2403 x2H 251 24,217
ORrssgs% 48,2403 »2H x522 5,017
OsgZ2fs+¥ 72,3603 x 1«52 3,763
ORsst=% 48,2403 x2H « 122 1,158
O=H=RE= 34,155,000& *4.5% 1,537
OAHLE2E=ZRES 34,155,000& *2.995% 1,023
O RAEERYS 1,023,000& *6.55% 68
(OFE=350= Py == 34,155,000& x1.5% 513




SA: ABIAZAIYA
Hm: ZZAE 22
¢ StExXelAEdR2E (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OtHEEZ 34,155,000 *3.5% 1,196
201 et 690,659 571,600 119,059
01 AP 2teltl 45,440 39,100 6,340
CEEIER=Y] 42,940
Oct+=8&ExMabl(ny, 3s, HT)
130,000 250 32,500
Og43Y Y RxE 224y
300,000 42 1,200
Odt=NMNI EL2ERHIE S22 48|
60,000& 218 S +23] 2,520
OtBEFHII WEZAN =28
290,000 *85 12 2,320
O=SgAFHIMN =2 1,100,000& *43l 4,400
oul=l 2,100
oxg= 100,000& »7H 23] 1,400
O& st 50,0003 x7Z *13] 350
O%s 2 29 50,0003 7 *13 350
OA3I AL (HIISHE) 80, 000& «5CH 400
02 2324l 645,219 532,500 112,719
o332 % HAl 549,100
OnHot+HMelAld HMIRI(BEx, 2sA4
ZE) 40,000,000& x123] 480,000
OMoIBANE &Iz 4,750,000& =123 57,000
(OFSIIReIFSE="R-i). ]| 100, 000& * 13l 100
OS2LHHa 8=23&Hl  1,000,000& =122 12,000
O = Hl 1,218
O2INERRHARHI (B R)
1,450& +702| H 123 1,218
OAIE ZHI S X 89,691
OA==7X &2l 1,017& x5,055m 5,141
Osdt=XMelAld JIHAE R 22 45,000
— W) KA&2 200,000& = 10CH *23 4,000
— dEtE I R 22 1,000,000 *3CH 3,000
—s=SEZIRX2e 1,000, 000& «5CH 5,000
—dsgEsd 500,000& *2H 1,000
— M FAZHSH 1,000,000 *6CH 6,000
—tEsHd 6,000,000% *1CH 6,000
—ASFLEZH 8,000,000& «1CH 8,000
—ZdEJI=wX2el 500,000 +8CH 4,000
—SZdMRR 22 2,000,000 *4CH 8,000
OMOIZ A& JIHAE 7K 2 6,500
— dEtE I R X212 500, 0003 =44 2,000
—s=SEZIRN2a 500,000 2K 1,000




EA: Mot A A
Hm: ZZAE 22
SR P ENE (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SZH AR X 22 1,750,000 «2LH 3,500
Odt=HMelAlE EIIANE R X 22 13,650
—IIIZ2SRANES 50,000& *33H4 1,650
—HIANELARE 20,000& *109H 105 2,000
— S HOUAPCSIHEFE 1,000,000 24 2,000
— HA=&H =4 2,000, 000& =2CH 4,000
— Ol E WA 2,000,000& =2LH 4,000
OMOISAIE HIIANEK X2 3,000
—HIANE 225 25,000& 100 *x 105 2,500
— H=SEH KA 22 500,000 = 1CH 500
Ox=Z&TMS | Xl &2 11,600
— H T 22| & AHH] 9,600
—ANEHFHEZ =4 2,000
(OF=F P a [ RN 4,800
— =L HEIJIEHLA 1,500, 000& *23] 3,000
— DO M =21 A 500,000& *23| 1,000
— D=2 )] HHEE DA
400,000& *23| 800
OpF=Fal=las]l 2,605,000 *x2CH 5,210
202 044l 7,050 7,050 0
01 2LH O HI 4,650 5,650 A 1,000
Odtx=HelAl8 P2 =T 0 Y| 4,650
05 22 U 2,400 1,400 1,000
Ost=24adlx=T 83| =0 bl 600,000& x4H 2,400
203 ¥ R =&t 1,000 1,000 0
03 Al =R 2= Y| 1,000 1,000 0
Odt+HeAL B2 L LIAGHA 1,000
206 M = dl 67,285 42,360 24,925
01 & bl 67,285 42,360 24,925
Odlx=HXMelAld =S 32| 27,060
UZE(QHH) 2203 *200kg 365 16,060
OIDEXNSEM (DA 110,000& 100 11,000
OMOIEAE A4S FHI 28,285
OEclYgstL 205 (PAC)
370& x1852| E1 *365 24,985
OIDNEXNESE M (DA 110,000& *30 & 3,300
(@FSE=-FEope:| 11,940
OAHA Al 50,000& x15= %43| 3,000
OA8gA =7 7Y 80,000& x10= *43| 3,200
OU&EZZ HECIZE #+¢ 70,000& x50 3,500
OMOISAIE AS A L HHAI 2L
70,000& *16E *x23| 2,240
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AN ot A A
Hm: ZZAE 22
SR P ENE (S &2)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
307 21201 & 150,600 139, 100 11,500
05 22t & =2 150,600 139, 100 11,500
Ox=ZAALANAHY 2EAS (YL, 25, HT) 150,600
401 AIEHI L 2CHYI 230,000 430,580 A 200,580
01 A€ HI 230,000 430,580 A 200,580
Odt=HMelAld 3L BZ (04,38 AHT)
20,000,000& » 14| 20,000
OJlsd 2B ol E =4l 210,000
ONSZAMHMAHAMAE WS A 150,000
Ottgtx wet] =4 25,000, 0003 *2CH 50,000
OsgE=Zd AJIMCE =H
10,000,000 = 1CH 10,000
405 TtatFH S 5,200 5,300 A 100
01 A& ESFH SH 5,200 5,300 A 100
OYYI FA(HIIA, HOISAIHE)
2,000,000% *2LH 4,000
Ou=Jl 7 400,000 »3CH 1,200
EEdMdANE2E 2 275,000 35,000 240,000
201 L2 | 20,000 15,000 5,000
02 3324l 20,000 15,000 5,000
O A& &EHl X H 20,000
O2=dHMelAE sX2a 20,000
-3 =4 2,500,000 4K 10,000
—2AHA = 5,000, 000& =14 5,000
—Bo ias =& 1,000, 000% 53] 5,000
401 AIEHI L 2CHYI 255,000 20,000 235,000
01 A& HI 255,000 20,000 235,000
OJlsdetZNo IHE 2=8HESE Al
Kl = ? ' 255,000,000& * 14! 255,000
St=SHAESAE2E 2 322,640 25,000 297,640
201 L2 | 25,000 25,000 0
02 3324l 25,000 25,000 0
O A& &EHl =X H 25,000
Ottt XA X2l (F5E,L10E) 25,000
- S¥2H =4 2,000, 000% 24 4,000
—3Jg=0 =d 2,000,000& 4= 8,000
—ZWEI =4 1,000,000& *4Z 4,000
—dRZY =H 1,000,000& 4= 4,000
—JIEetA2F WA 100,000 *10& 53| 5,000
206 M= Hl 14,640 0 14,640




MGt AN &
S350t 2el
St=2MelAE2d (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 14,640 0 14,640
S=StAE ZEX HES ME
600& 11,7000 123 12,240
OEHW ¢ 10,000 2001 x 12& 2,400
401 AIEHI L 2 CHYI 283,000 0 283,000
01 A& HI 283,000 0 283,000
O=2Hlolo A 54,000,000& »24! 108,000
od=0lsEE X ME 2
135,000, 000& 14 135,000
OAH=I|l MI|BIE 30,000,000& » 14! 30,000
OJIAHEHl =& 3 A 10,000, 000& * 14 10,000
SHBZEY 2IJ 22 50,660 68,860 A 18,200
201 YBr2 | 50,660 48,860 1,800
01 At 22l 3,360 3,360 0
O R-Iget=:] 3,360
OxdSHEZY M)A UEd++Z
150,000& = 12& 1,800
OReZHANAESZE 130,000& «12& 1,560
02 2324gl 47,300 45,500 1,800
O=323<LHA 37,800
OSHEZRNIRS(H, 4 WA
3,000,000& x12& 36,000
OLFEIZEHAMII2Z 50,0003 ALx123 1,800
O A& ZEHl S Xl 9,500
Ox=Ed3AHBEYE & el 6,500
—dsdEHUH 2,000,000 =2CH 4,000
—HE=+H 1,000, 000& *2CH 2,000
—Z2&II=X2el 500,000& x 14! 500
OgasHEZE R 2l 3,000
—JIEtAL2E 200,000& 58 1,000
— 2Etd 500,000& =4 CH 2,000
ot=XelAld SAZE 3 11,544 11,904 A 360
101 @14 dl 7,804 7,804 0
04 JIZHHZ2XNHEE S 7,804 7,804 0
ODHI=HMelANELAZTH HHAEY 22
86,6903 *3H x4 53| 5,202
OLNHI=HeANELAZSA =522 U (A
A, EE) 86,6903 x3H «53| 1,301
OFHEZE (Y, Lo WANMHFRY 212
86,6903 *3H x52] 1,301
201 2Bt | 2,140 2,500 360
02 =224l 2,140 2,500 A 360




2AMN: Aot ALY A
Ny ZRolAT B2
el sla2nHelAE ey SHol E )
SAH-EB .S (3H) - HEAY - BE2 il HDS2
(©)s=3] 1,140
ON=Dl & ZCIAUI(FER)
1,520 502 E{ *153] 1,140
OA & &Hl S XY 1,000
oArRE I (0l=J1 & XCIAIN)
200,000& *53] 1,000
206 I = b8l 1,600 1,600 0
01 X2 bl 1,600 1,600 0
Os2LIU (M= E) 200,000& =38 A 600
Qdt=HXMAE =35 2
2,000& *100J x5 1,000
SlStot X AIE2Y 138,172 148,271 A 10,099
101 @124l 2,601 2,601 0
04 JI2ZtH 22 XNEE =+ 2,601 2,601 0
OBt LML U AZE HHEY oY
86,690*3H x22! x53| 2,601
201 Bt A H| 85,350 70,500 14,850
01 AFR2 2t 2l Yl 22,350 17,200 5,150
O Yet+=gH| 22,350
Odt=2 LI X el 121,000& * 150 18,150
ORQHHIAAE =2 150,000& = 12& 1,800
[OFSPIRUPSHN Ry 200,000& x12& 2,400
02 352494l 63,000 53,300 9,700
oO332=2 % HA 38,400
Odt=XelAld &8IIe3 3,000,000& x12& 36,000
Oske= 200,000& x12& 2,400
O A& &Hl S XYl 24,600
O&s3J=H 500, 000& =4CH 2,000
O &=l A 22 3,000,000 *1CH 3,000
Ozt & HZx=x X 22| 500,000& =10CH 5,000
OEFI =M 5,000,000& = 1CH 5,000
Oz=ZTMS d 22| & At 9,600,000& x13] 9,600
206 T 24 10,221 6,970 3,251
01 & bl 10,221 6,970 3,251
OnEXNST M (HA) 9,000& x2.5kgx365 8,213
OLE(CIHIA) 2203 *25kg *365! 2,008
401 Al HIL 200 40,000 68,200 A 28,200
01 Al &bl 40,000 68,200 N 28,200
OJl=d Z200 e =&l 40,000
FEHASI 2L (HM) 20,000
OsdNg=I =4 10,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZAMAHAAE = 10,000
HFSI=HeAANE2E 121,122 101,914 19,208
101 @124 dl 2,601 2,601 0
4 JI2ZHHZ22XEES 2,601 2,601 0
Odt+=XMeANELNSSENE=LRES
86,690 *x3H x2 53] 2,601
201 L2l 106,460 90,500 15,960
01 At 22l 27,760 21,400 6,360
O el 27,760
Odt==2 Ll X el bl 121,000& 160 19,360
ORZUIA AT
200,000 x204 A+ 12 4,800
OFI|ItMH# =T 150,000 20 A +12& 3,600
02 =24l 78,700 69,100 9,600
O=323<LHA 63,600
ONJot=HMeAMNE HIIR=
3,500,000& x12& 42,000
OFHEZZ I3 (sS4 n)
1,500,000& = 12& 18,000
OZ2HM0o S 300,000& x12& 3,600
O A& ZEHl =X bl 15,100
OJIHAANE s X 2teldl 300,000& *10& 3,000
O&EIIANE =X 2l 200,000& 108 2,000
Obl&agdI| S22 500,000 = 1CH 500
=ZTNS B 22| Z At 9,600,000& 12| 9,600
206 = Hl 12,061 8,813 3,248
01 24l 12,061 8,813 3,248
Os2%4+¢Y 200,000 »3 A 600
ONEXNSEM(HA) 9,000& *3.0kg*365< 9,855
LS (A HA) 2203 x20kg x365 1,606
ot=XHelFAE 9,340,000 4,718,000 4,622,000
= 5,978,000
X 400,000
< 1,401,000
s 1,561,000
DEMUEHNE S SAE X E ALY 800,000 1,547,000 AT47,000
Xl 400,000
< 120,000
[ia 280,000
401 Al HI K 201 I 800,000 1,547,000 AT47,000
Xl 400,000
< 120,000
[ia 280,000

«©




AN dot=SAFE A
Ny ZRolAT B2
9t Gt M2l B ALY (29l 8)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 790,000 1,547,000 AT757,000
ONEMEHME S SAEZHAY 790,000
Xl 400,000
< 120,000
[ia 270,000
03 A2 2 THHI 10,000 0 10,000
ONHMUEHMES S SAEZEAY 10,000
Hel=SsHENSot==HH ALY 2,967,000 1,290,000 1,677,000
= 2,077,000
< 445,000
s 445,000
TAIEHI &2 2,967,000 1,290,000 1,677,000
= 2,077,000
< 445,000
s 445,000
01 A& HI 2,962,000 1,288,000 1,674,000
OUHA=s0HEOISot=SFHI ALY 2,962,000
= 2,077,000
< 445,000
[ia 440,000
03 Al =2 THHI 5,000 2,000 3,000
OUHA=s0HEOISot=S ZHI ALY 5,000
SstsHEDNSot=SHBIALS 1,096,000 414,000 682,000
= 767,000
< 164,500
s 164,500
401 Al HI K 201 I 1,096,000 414,000 682,000
= 767,000
< 164,500
[ia 164,500
01 A& HI 1,094,000 414,000 680,000
OSstsHENSSH=ZFHHIALY 1,094,000
= 767,000
< 164,500
[ia 162,500
03 AIE =2 THHI 2,000 0 2,000
OsstsEOISot=S ZHl ALY 2,000
SeEsHENSot=SEBIALS 3,097,000 486,000 2,611,000
= 2,168,000
< 464,500
s 464,500
401 AIEHI L 20HEI 3,097,000 486,000 2,611,000
= 2,168,000
< 464,500
i 464,500
01 A& HI 3,094,000 484,000 2,610,000




AN dot=SAFE A
Ny ZRolAT B2
& St=Xel ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSSsHENSSH=ZFHHIAY 3,094,000
= 2,168,000
< 464,500
s 461,500
03 Al S THHI 3,000 2,000 1,000
O=8s0HEOISot=SZH At 3,000
BHEIsHENSot=E2HAHZHI AN 1,380,000 590,000 790,000
= 966,000
< 207,000
s 207,000
401 Al HI K 201 1,380,000 590,000 790,000
= 966,000
< 207,000
s 207,000
01 A& HI 1,378,000 590,000 788,000
OUWMEZSHEOSSH=T2H HEZHIALY 1,378,000
= 966,000
< 207,000
s 205,000
03 Al2 S THHI 2,000 0 2,000
OUNESHENSS 28 HEHIALY 2,000
ot =2t H AL 7,617,000 8,744,000 A 1,127,000
= 5,031,000
s 2,586,000
SHot=CS EHIALY 430,000 50,000 380,000
401 AIEHIZL 20 430,000 50,000 380,000
01 A& Hl 430,000 50,000 380,000
OSHot=SZHlAY 430,000
02017 sHEDNSot=SFHIAI (501 4) DI
= % HANEH EY 300,000
O1nHE St=EZFHHISA 50,000
OUJIHHE) Gt+=22 FHISA 20,000
ONFHGt=HMAEINIEZ YSYH EXSA 60,000
DESot=2H2EH ZHI ALY 1,129,000 1,314,000 A 185,000
= 790,000
e 339,000
401 Al HIZ 201 8] 1,129,000 1,314,000 A 185,000
= 790,000
e 339,000
01 A& HI 1,097,000 1,112,000 A 15,000
ONESot=&H2HH ZFHI AL 1,097,000
= 769,000
s 328,000
02 Zeltl 30,000 200,000 A 170,000
ONESot=2H2EH FHI ALY 30,000




A dot=Z A A
Hm: ZZAE 22
SR St AAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 27,000
s 9,000
03 Al 2 THHI 2,000 2,000 0
ONE St H2EH ZHI ALY 2,000
B & ot==2t H2E A E HI ALY 647,000 291,000 356,000
= 453,000
[ia 194,000
401 AIEHI L 2 CHYI 647,000 291,000 356,000
= 453,000
e 194,000
01 A& HI 647,000 291,000 356,000
Ol Eot=2t H2E H ZHI ALY 647,000
= 453,000
s 194,000
ot=SCd8H SE22XNE =0T AS 5,411,000 7,089,000 A 1,678,000
= 3,788,000
s 1,623,000
403 A X EHHSH20IA 5,411,000 7,089,000 A 1,678,000
2 3,788,000
i 1,623,000
02 SJ| 2SO0l CHSH At 2 X CH & AF I 5,411,000 7,089,000 A 1,678,000
O=gXl=7 otx=FH SH2cXE =08
A 5,411,000
= 3,788,000
s 1,623,000
=2 & 22l 542,214 228,590 313,624
OISota=SAIE2F 22 351,340 228,590 122,750
201 LEr2 Y| 71,240 53,680 17,560
02 2324l 71,240 53,680 17,560
0z22= & HMA 55,140
OltSEIS3ot==HeAANE &S
150,000& 23 A+ 123 41,400
Olt2d? =82 dIIRS
40,0003 #2000 &= 12& 9,600
OltstfIS33ot=HMeANE BEE2ATEL
90,0003 #2304 2 23] 4,140
OAEZHI S X 16,100
Ootst=Is3dt=HMel A E JIHMNERKE
== Hl 700,000 #2304 2 16,100
202 od4dl 3,000 3,000 0
01 = LH &4 1l 3,000 3,000 0
Oot=Z At 2t ZLHOHI 3,000
203 AR Z= | 1,000 1,000 0
03 AIHF=AH S =AH| 1,000 1,000 0
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el

o g 0
1 o o
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H0 4> H
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Odt=Z 2ol d 1,000
gI2tol 276,100 170,910 105,190
QIIRAEZ 276,100 170,910 105,190
oSS Sot=HelAd 22 & (23 L) 276,100
EHXMESSAE 22 190,874 0 190,874
jellal=] 59,857 0 59,857
JIZtHZ22 S 2 59,857 0 59,857
OAld2eld o2 59,857
OPIR--= 48,2403 x3H »251L 36,325
ORsS5d+g 48,2403 x3H »522 7,526
Osg2*fE 72,3603 x2H x52 7,526
ORSsit=d 48,2403 x3H 12 1,737
O=H3RE3 53,114,000 x4.5% 2,391
OHLEBERYE S 53,114,000& *2.995% 1,591
OLoYEHREZ 1,591,000& *6.55% 105
OLEEERYS 53,114,000& x1.5% 797
OMTHEE = 53,114,000& *3.5% 1,859
2Bt | 131,017 0 131,017
At 2t el | 21,200 0 21,200
O el 20,600
OMREES 7Y 100,000& =12 1,200
Ost&a A28 24 100,000& 128 1,200
OEM EA8F 7Y 100,000& =122 1,200
OBEx WM& 2 7Y 10,000, 000& 13| 10,000
Os ¢ 4,000,000& %13 4,000
OE Xz 7Y 600,000& x13] 600
OHE M3 + 1,000, 000& *23] 2,000
O==2 E4E51 2 200,000& »23| 400
o=t 600
o= 100,000 »2H x23| 400
Oo& st 100,000 2% x 13| 200
02 23=29gHl 109,817 0 109,817
o0z22= & HA 80,771
odIIe2 5,645,000 x12& 67,740
O&ol=ER=a 100,000& =122 1,200
OEsdAs= 150,000& »12& 1,800
OHJ|etd 2te| k= 251,570 128 3,019
OAYANE B =2
1,000, 000& *23| 2,000
OsZI|otd 2 =3 150,000& 128 1,800
Os2J1&8I14 120,000& =128 1,440
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AN dot=SAFE A
HH: HY2YA)
el D23l (Aot At &) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Og3NedRE= 200,000 »23| 400
OfIdYgsEes= 70,000& x123] 840
OAEZHI S X 2,444
OHd = AMII==2 300, 000& =33 x2CH 1,800
OZggIl=el 34,0003 *43| 4 LH 544
O AFX I 100,000 =12 » 1CH 100
405 XtatE SHI 7,500 0 7,500
01 XML = ZH SHI 7,500 0 7,500
O=AMI 7L 7,500,000 = 1CH 7,500
04 dl 36,000 36,000 0
202 Oddl 36,000 36,000 0
01 = LH 4 Hi 36,000 36,000 0
OJlegf=ad 200,000& 15 «12& 36,000
HREsS (Aot AE L) 3,456,361 3,979,441 A 523,080
2 1,219,000
i 2,237,361
HWEHAHX S (Aot T AL A) 2,037,361 2,031,441 5,920
N EEIIHNEES 2,000,000 2,000,000 0
701 JIEtSI HSEES 2,000,000 2,000,000 0
01 JIEteI HE == 2,000,000 2,000,000 0
O+ SEIHNEES 2,000,000
OXNLAM=CAIE&STALY 800,000
Ozdad+= (3223 1,200,000
T=HINLEELIHEES 37,361 31,441 5,920
701 JIEtSI HEEES 37,361 31,441 5,920
01 JIEtSI HE &= 37,361 31,441 5,920
O=ENLSEIIHEES 37,361
Oodetitsot=S 23l 8,418
Osgitsdt==29H| 5,089
OMz0tSdts= 22 Hl 4,768
Ositsdt=S29 | 7,351
Og4ditsot==23H| 5,485
Oguotsdt=c 22l 6,250
BEXNE (Mot AIE L) 1,419,000 1,948,000 A529,000
= 1,219,000
i 200,000
DEct=HMdZEXNAMTE N = o2 982,000 1,438,000 A 456,000
= 982,000
311 X+ S0l AtH&f & 8,400 62,400 A54,000
= 8,400




SA: ABIAZAIYA
HH: WRES (Yot ALY A)
€@l BEEXNE(Mot=Z A A) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
05 JIEHXH = 01 At &f &t 8,400 62,400 254,000
OnHEst=Hel ¥ XAESXS30| Xt AE 8,400
= 8,400
601 US4 973,600 1,375,600 A 402,000
= 973,600
05 Bt =2 LRI S S & E 973,600 1,375,600 A 402,000
OLNHot=HelZEXMNLENSASLE 973,600
= 973,600
DEot=M2AdBLEMAdANEASENE Lo 165,000 170,000 A 15,000
= 165,000
311 X+ 201 Xk & & 5,800 20,800 A 15,000
= 5,800
05 JIEt X+ = 01 At &f &t 5,800 20,800 A 15,000
Olndgsta=HMelZEDEXel A ZSAIS U3 0I X4
= 5,800
= 5,800
601 Xt =SB4 149,200 149,200 0
= 149,200
S JIEt=UHAIY =3 =4 e 149,200 149,200 0
OLndEsta=HMelZEDEHelAMEALdESNSES Y
= 149,200
= 149,200
DEGt=HMelEsH NNl AEAdEsS NI 34 82,000 87,000 A5,000
= 82,000
311 Xt 201 Xk &k & 2,800 7,800 A5,000
= 2,800
05 JIEH X+ S0l At &t & 2,800 7,800 A5,000
ODnYot=XelZsA XMl ANEALEXSO0I A
& 2,800
= 2,800
601 LS S& e 79,200 79,200 0
= 79,200
05 JIEt= LRI SRS & & 79,200 79,200 0
ODNYot=HXMelZBsHXNMAANEMNSTEN=—E S
&b 79,200
= 79,200
2. CHEXSEES 200,000 253,000 A 53,000
802 gt&t = DI EF 200,000 253,000 A 53,000
(ICEnIgel=g=g= 200,000 253,000 A 53,000
O =210EXa A0 GE B 200,000
Odt=xelZBAY =DEx3 FJ&o e bt
5 200,000




